COVER SHEET

		A S O 9 5 0 0 2 2 3
		SEC Registration Number
D M C I H O	L D I N G S , I N C .	
	(Company's Full Name)	
3 R D F L R	. D A C O N B L D G .	
P A S O N G	Т А М О Е Х Т . М А К	A T I C I T Y
	(Business Address: No., Street City / Tow	wn / Province)
HERBERT M. CONSUN		888-3000
Contact Person	Со	ompany Telephone Number
		(Second Tuesday
1 2 3 1	SEC Form 17-C	
Month Day Fiscal Year	FORM TYPE	Month Day Annual Meeting
	N.A.	
	Secondary License Type, If Appl	licable
C F D		
Dept Requiring this Doc	Amended Art	ticles Number / Section
	Total Amou	Int of Borrowings
Total No. of Stockholders	Domestic	Foreign
	Domestic	
	To be accomplished by SEC Personne	el concerned
	□ · · · · · · · · · · · · · · · · · · ·	
File Number	LCU	
Document ID	Cashier	
стамре		
STAMPS		
	Remarks: Please use BLACK ink	for scanning purposes
i i		5

SECURITIES AND EXCHANGE COMMISSION

SEC FORM 17-C

CURRENT REPORT UNDER SECTION 17 OF THE SECURITIES REGULATION CODE AND SRC RULE 17.2(c) THEREUNDER

- <u>April 23, 2020</u> Date of Report (Date of earliest event reported)
 SEC Identification Number <u>ASO95-002283</u>
 BIR Tax Identification No. <u>004-703-376</u>
- 4. <u>DMCI Holdings, Inc.</u> Exact name of issuer as specified in its charter
- <u>Philippines</u>
 Province, country or other jurisdiction of incorporation
 <u>Construction</u>
 <u>Construction
 <u>Cons</u></u>
- 7. <u>3/F Dacon Building, 2281 Don Chino Roces Avenue, Makati City</u> Address of principal office <u>1231</u> Postal Code
- 8. (632) 8888-3000 Issuer's telephone number, including area code
- 9. <u>Not applicable</u> Former name or former address, if changed since last report

10. Securities registered pursuant to Sections 8 and 12 of the SRC or Sections 4 and 8 of the RSA

960	13,277,470,000.00 960.00 13,277,470,960.00
	960

11. Indicate the item numbers reported herein: Item 9

Item 9. Other Events

In compliance with the Revised Disclosure Rules of the Philippine Stock Exchange (PSE), we hereby report the following DMC shares bought/sold by Jorge A. Consunji, Director of the Corporation:

Transaction Type	Date	No. of Shares	Price/Share (Php)	Amount (Php)
Bought (Indirect)*	April 21, 2020	45,000	4.4000	198,000.00
Bought (Indirect)*	April 21, 2020	4,000	4.3900	17,560.00
Bought (Indirect)*	April 21, 2020	450,000	4.3800	1,971,000.00
Bought (Indirect)*	April 21, 2020	250,000	4.3700	1,092,500.00
Bought (Indirect)*	April 21, 2020	160,000	4.3600	697,600.00
Bought (Indirect)*	April 21, 2020	40,000	4.3300	173,200.00
TOTAL		949,000		4,149,860.00

*controlling shareholder of a Corporation

SIGNATURES

Pursuant to the requirements of the Securities Regulation Code, the issuer has duly caused this report to be signed on its behalf by the undersigned hereunto duly authorized.

DMCI Holdings, Inc. Issuer

Herbert M. Consunji

Executive Vice President & Chief Finance Officer

April 23, 2020

SECURITIES AND EXCHANGE COMMISSION

SEC FORM 17-C

CURRENT REPORT UNDER SECTION 17 OF THE SECURITIES REGULATION CODE AND SRC RULE 17.2(c) THEREUNDER

1. Date of Report (Da	ate of earliest event reported)			
Apr 23, 2020				
2. SEC Identification Number				
ASO95002283				
3. BIR Tax Identification No.				
004-703-376-000				
4. Exact name of issu	4. Exact name of issuer as specified in its charter			
DMCI Holdings I	าC.			
5. Province, country	or other jurisdiction of incorporation			
Philippines				
6. Industry Classifica	tion Code(SEC Use Only)			
3/F Dacon Bldg. Postal Code 1231	2281 Chino Roces Avenue, Makati City			
	number, including area code			
(632) 88883000				
	ormer address, if changed since last report			
N/A				
10. Securities registe	red pursuant to Sections 8 and 12 of the SRC or Sections 4 and 8 of the RSA			
Title of Each Class	Number of Shares of Common Stock Outstanding and Amount of Debt Outstanding			
Common	13,277,470,000			
Preferred	960			
11. Indicate the item	numbers reported herein			
Item no. 9				

The Exchange does not warrant and holds no responsibility for the veracity of the facts and representations contained in all corporate disclosures, including financial reports. All data contained herein are prepared and submitted by the disclosing party to the Exchange, and are disseminated solely for purposes of information. Any questions on the data contained herein should be addressed directly to the Corporate Information Officer of the disclosing party.



DMCI Holdings, Inc. DMC

PSE Disclosure Form 13-1 - Change in Shareholdings of Directors and Principal Officers References: SRC Rule 23 (SEC Form 23-B) and Section 13 of the Revised Disclosure Rules

Subject of the Disclosure

DMC Share Transaction by a Director

Background/Description of the Disclosure

In compliance with the Revised Disclosure Rules of the Philippine Stock Exchange (PSE), we hereby report the following DMC shares bought/sold by Jorge A. Consunji, Director of the Corporation:

Name of Person	JORGE A. CONSUNJI	
Position/Designation	DIRECTOR	

For Equity Securities

Type of Security /	Date of		ties Acquired (A) or Disposed (D)		Ownership Form Direct	Nature of Indirect Beneficial
Stock Symbol	Transaction	Number of Shares	(A) or (D)	Price per Share	Price per (D) or Indirect (I) C	Ownership
COMMON/DMC	Apr 21, 2020	45,000	А	4.40	I	controlling shareholder of the corporation
COMMON/DMC	Apr 21, 2020	4,000	А	4.39	I	controlling shareholder of the corporation
COMMON/DMC	Apr 21, 2020	450,000	А	4.38	I	controlling shareholder of the corporation
COMMON/DMC	Apr 21, 2020	250,000	А	4.37	I	controlling shareholder of the corporation
COMMON/DMC	Apr 21, 2020	160,000	А	4.36	I	controlling shareholder of the corporation
COMMON/DMC	Apr 21, 2020	40,000	А	4.33	I	controlling shareholder of the corporation

Number of Shares Owned after the Transaction

Direct	5,000	
Indirect	9,305,125	

Filed on behalf by:

Name	Herbert Consunji
Designation	Executive Vice President & Chief Finance Officer